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Q1 Tha perinteter of an equilateral trianale s 3643 m. Find the height (in metres).

Ans 1. 12

2. 14
3. 16
W18
Question ID : 9489115472
Option 11D : 94891121885
Option 2 ID : 94891121886
Option 3 ID : 94891121887
Option 4 ID : 94891121888
Status : Answered
Chosen Option : 4
Q2 How many member countries did the UNO have on its formation in 19457
Ans 1.
W2 5]
3.
4.
Question ID : 9489115334
Option 11D : 94891121334
Option 2 ID : 94891121335
Option 3 1D : 94891121333
Option 4 ID : 94891121336
Status : Answered
Chosen Option : 1




Q.3
Ans 1.
2.
3.
“ 4.
Question ID : 9489115308
Option 11D : 94891121232
Option 2 ID : 94891121230
Option 3 1D : 94891121231
Option 4 ID : 94891121229
Status : Answered
Chosen Option : 4
Q.4
Ans « 1.
2.
3.
4.
Question ID : 9489115337
Option 11D : 94891121347
Option 2 ID : 94891121348
Option 3 1D : 94891121346
Option 4 1D : 94891121345
Status : Answered
Chosen Option: 1
Q.5 Which [ocimg Masonallsr beader spenclicnded the pemaurs” sgintion kisoon as dw Bardali Siysgmbs?
Ans “ 1.
2.
3.
4.
Question ID : 9489115319
Option 11D : 94891121275
Option 2 1D : 94891121274
Option 31D : 94891121276
Option 4 1D : 94891121273
Status : Answered

Chosen Option :

1




WAL nn\/flnhcnlnr

OOt

Q.6 mmu;mw.hpmmﬂrunmdhmmﬂmmnw How s the
persan i pliiogreph relabed 10 Rajet?

Ans 1.

2.

3.

v 2

Question ID : 9489115578
Option 11D : 94891122311
Option 2 ID : 94891122310
Option 31D : 94891122312
Option 4 1D : 94891122309
Status : Answered
Chosen Option : 4
Q.7 s ravellsd s dbmece of 56 km kB B pvelled pandy oy footara apead of 2 bich sl pantty oo Beyele o a
wpwwd ol & kan'he Whet oo ihwe dirtanes din ki vl om fpod?
Ans 1. 16
2. 18
v 10
4. 12
Question ID : 9489115463
Option 11D : 94891121851
Option 2 ID : 94891121852
Option 3 1D : 94891121849
Option 4 1D : 94891121850
Status : Answered
Chosen Option: 3
Q8  How many major banks were oationalised by the government in 19697
Ans 1. 17
v 14
3. 11
4. 20
Question ID : 9489115341
Option 11D : 94891121362
Option 2 ID : 94891121363
Option 3 1D : 94891121364
Option 4 1D : 94891121361
Status : Answered
Chosen Option: 2
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Q.9 caprpii eres 4 talliar Chian 8 Bennn Spvss, A gapenen e [ almerber fhean o paalm D A mieango 1nes i dedter than

ke PR e brar Thdber s flie apple e Wikich i e iadest mes?

Ans 1.

2.

3.

v &

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 1D

Status

1 9489115600

1 94891122400
194891122398
1 94891122397
194891122399
. Answered

Chosen Option : 4

Q10 which of the following is NOT used as a moderator in nuclear reactors?

Ans 1.
2.
W3
4.
Question ID : 9489115330
Option 11D : 94891121319
Option 2 1D : 94891121317
Option 31D : 94891121318
Option 4 1D : 94891121320
Status : Answered
Chosen Option: 2
Q.11
Ans 1.
2.
Vs
4,
Question ID : 9489115326
Option 11D : 94891121302
Option 21D : 94891121303
Option 31D : 94891121304
Option 4 1D : 94891121301
Status : Not Answered

Chosen Option :
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Q12 which period has been described as the Golden Age of Indian history?
Ans 1.

2.
3.
“ 4.
Question ID : 9489115320
Option 11D : 94891121277
Option 2 1D : 94891121278
Option 31D : 94891121280
Option 4 1D : 94891121279
Status : Answered
Chosen Option : 4
Q.13 Select the oumber from nmaong the piven ophoss tat can replace the question mark 75 io the gren ool
L 5 L]
& 11 3
1 w0 pa [
Ans 1.0
2. 16
s 13
4. 14
Question ID : 9489115603
Option 1 ID : 94891122409
Option 2 ID : 94891122412
Option 31D : 94891122410
Option 4 1D : 94891122411
Status : Answered
Chosen Option: 3
Q.14 [awhich year did Mahainm Gands ogoniss & sarvagrabo 1o sapport the pessanrs of de Khisda distrier?
Ans 1.
2.
3.
v
Question ID : 9489115317
Option 11D : 94891121268
Option 2 1D : 94891121267
Option 31D : 94891121266
Option 4 ID : 94891121265
Status : Answered
Chosen Option : 4
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Q15 wwhich of the following statements about NITI Aayeg is INCORRECT?
Ans 1.
2.
Vs
4.
Question ID : 9489115340
Option 11D : 94891121357
Option 2 ID : 94891121359
Option 3 1D : 94891121358
Option 4 1D : 94891121360
Status : Answered
Chosen Option: 3
Q.16
Ans 1.
W2
3.
4.
Question ID : 9489115593
Option 11D : 94891122370
Option 2 1D : 94891122371
Option 3 1D : 94891122369
Option 4 ID : 94891122372
Status : Answered
Chosen Option : 3
Q.17  The sclaig price of & ' i G 18001 e profin oude by shopkaspes 200, wla will be the oo price of s kry
[ g
Ans 1.
2.
W
4,
Question ID : 9489115457
Option 11D : 94891121826
Option 2 ID : 94891121827
Option 31D : 94891121825
Option 41D : 94891121828
Status : Answered
Chosen Option : 3
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Q.18 Sl beiasghi s witiele for T754 which loekadsd TGOT of 1186 Wi wis S rice of e naicle befioe O3T was sddad™

Ans ( 1.
2.
3.
4.
Question ID : 9489115454
Option 11D : 94891121816
Option 21D : 94891121815
Option 31D : 94891121813
Option 4 1D : 94891121814
Status : Answered
Chosen Option: 1
Q.19 I+ = 'arale £ aibdiling”, = prands [y ehbendiog”, * " ptands 7o Cdivichon” sud " araeds fee omaltiplisation
et winieh of the |'|'||.|l!ﬁ“'|.l.l.|_! Eq_l.l-'ﬂll'l'.l.'. il B poeserT
Ans ( 1.
2.
3.
4.
Question ID : 9489115588
Option 11D : 94891122349
Option 2 ID : 94891122351
Option 31D : 94891122350
Option 4 ID : 94891122352
Status : Answered
Chosen Option : 1
Q20 Whowas the Vicsroy of British Indin at the fime India became independent in 19477
Ans 1.
v
3.
4,
Question ID : 9489115318
Option 11D : 94891121269
Option 2 ID : 94891121271
Option 31D : 94891121272
Option 4 1D : 94891121270
Status : Answered
Chosen Option : 2




WA

Q.21

Ans ( 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

9489115343

94891121370
94891121369
94891121372
94891121371
: Not Answered

Q.22

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115471
94891121881
94891121883
94891121882
94891121884
Answered

3

Ans 1.

2.

¥ &)

L), AL, 134 430

Q.23 Select i munber bom among the given options tal sao peplece the quesiion madi €7 o the Rllowing pmes.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115584
94891122335
94891122333
94891122334
94891122336
Answered

3
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Q.24 =aject the Venn diagram that best ceprezents e relatnnship bermean the following classes,

Men, Teachers, Doctors

@OER

Ans 1. A
2D
W3 C
4 B
Question ID : 9489115598
Option 11D : 94891122389
Option 2 1D : 94891122392
Option 31D : 94891122391
Option 4 1D : 94891122390
Status : Answered
Chosen Option: 3
Q.25
Ans 1.
2.
3.
« 4,
Question ID : 9489115448
Option 11D : 94891121790
Option 2 1D : 94891121789
Option 31D : 94891121792
Option 4 1D : 94891121791
Status : Answered
Chosen Option : 4
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Q.26 Tiye lewpthis of thies mydisns of 8 toinegle ave 3 cun, & ¢y and 5 can The aren of e wiangls is

Ans

Question ID : 9489115468
Option 11D : 94891121872
Option 2 ID : 94891121871
Option 3 1D : 94891121870
Option 4 1D : 94891121869
Status : Answered
Chosen Option: 3
Q27 A5 of Dctober 2020, how many Indian states have bicameral legislatares?
Ans 1.
2.
3.
« 4.
Question ID : 9489115329
Option 11D : 94891121316
Option 2 1D : 94891121315
Option 31D : 94891121313
Option 41D : 94891121314
Status : Answered
Chosen Option : 4
Q.28 1
If a2 = 6, then find the value of a® — 36a
Ans 1.
v &)
3.
4.0
Question ID : 9489115452
Option 11D : 94891121808
Option 2 ID : 94891121806
Option 3 1D : 94891121805
Option 4 1D : 94891121807
Status : Answered
Chosen Option : 2
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Q29 14 which Obympéc games did Milkls Siagh finish fourt b the 400 m Rusning final®
Ans 1.
2.
3.
v
Question ID : 9489115304
Option 11D : 94891121215
Option 2 ID : 94891121213
Option 31D : 94891121214
Option 4 ID : 94891121216
Status : Answered
Chosen Option : 1
Q.30 Ifonbmarked price, s i Sarence berwert seling pricss with o dizoow of 45% dsd ewo o reesuve Escois of 300
il 0%y A e the ke prece
Ans « 1.
2.
3.
4.
Question ID : 9489115460
Option 11D : 94891121837
Option 21D : 94891121840
Option 31D : 94891121839
Option 41D : 94891121838
Status : Answered
Chosen Option: 1
Q.31 & suem o REDLOED i boreosved i o oave of sinogle deferedr 158 v aanurn For 2 vears. Find the ameant o be pead ai the
BTl oF I venr
Ans ( 1.
2.
3.
4
Question ID : 9489115455
Option 11D : 94891121817
Option 21D : 94891121820
Option 31D : 94891121819
Option 41D : 94891121818
Status : Answered
Chosen Option: 1
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Q.32 Thegum of Se reciprociis of the apes of mv polleapues i nee Tiowss the diffies nos of the ceel protads of Thek opes. 1T

e e ol e panhacta of dhor sgen o0 dhe wan of their apes @2 108 %, Fiod $iwir sen
v &

2.

Ans 20 years, 25 years

L5 years. 10 years

. 24 vyears, 45 years

- 25 years, 4 years

Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115467
94891121867
94891121868
94891121865
94891121866
Answered

1

Q33 Find the largest 4-digit number which is complerely divisible by 66.

Ans 1.

2.
3.

v 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489115451
94891121803
94891121801
94891121802
94891121804
Answered

4

Q.34 Tuwlhich yeu ofid tie Cinveviumeslaf Toadia bestinie rvo eivilie awands - Bl B aud Padoa Vbt

Ans 1.

2.

3.

v

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489115306

94891121224
94891121222
94891121221
94891121223
Not Answered
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Q.35

Ans

Question ID : 9489115469
Option 11D : 94891121873
Option 2 1D : 94891121875
Option 31D : 94891121876
Option 4 1D : 94891121874
Status : Answered
Chosen Option : 2
Q.36 Thev= are ravo mmibers soeh tha die big anseber (s obandsed by pddiig 5 de the: oibee 1 the vomd of S rao unsibes o
10, find e predost of Sere manbee
Ans « 1
2. 24
3.
4.
Question ID : 9489115444
Option 11D : 94891121775
Option 21D : 94891121774
Option 31D : 94891121776
Option 41D : 94891121773
Status : Answered
Chosen Option: 1
Q.37 LEILof muigr s saponned o boiling frest B Lo sogar solution cotbiising 445 sugar, fis) the percannge of Sgin o
o remunnE s
Ans 1.
v
3
4.
Question ID : 9489115456
Option 11D : 94891121821
Option 21D : 94891121822
Option 31D : 94891121824
Option 41D : 94891121823
Status : Answered
Chosen Option : 2
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Q.38 Thres of the following four words ace alike in & certain way

Fick the odd word out
Ans 1.

2.

W3

oo 15 different.

Question ID : 9489115595
Option 11D : 94891122377
Option 2 ID : 94891122379
Option 31D : 94891122378
Option 4 1D : 94891122380
Status : Answered
Chosen Option : 3
Q.39 ik itmaki diede Bngmeine. CRICKET b wiisss is ZOFZHBG, Bow will FOOTEALL be weillzn i in thil buasege™
Ans 1.
W2
3.
4.
Question ID : 9489115577
Option 11D : 94891122306
Option 2 1D : 94891122307
Option 31D : 94891122305
Option 4 1D : 94891122308
Status : Answered
Chosen Option: 2
Q.40 The sum of rwo mumbers 5 850 asd el HCF i3 25, A pesaible pair of such munbers 52
Ans « 1.
2.
3.
4.
Question ID : 9489115446
Option 11D : 94891121783
Option 21D : 94891121782
Option 31D : 94891121784
Option 4 ID : 94891121781
Status : Answered

Chosen Option :

1
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Q.41 ninkfmloss i (o 25000 o | 5% pex peir o5 are of sangie invsrest Find the inosres o bag o pay of die dad of oue

1

Ans 1.

Question ID : 9489115458
Option 11D : 94891121829
Option 21D : 94891121832
Option 31D : 94891121830
Option 4 1D : 94891121831
Status : Answered
Chosen Option : 4
Q.42 IE=="stusds foe ‘addition’. -~ siasids S ‘sobmaction’, " e B rdivision ond - coueds o Toadn pliaiion’ then
which of the folkwaig eqeatione =il | 0T b conesi?
Ans 1.
2.
W 3
4.
Question ID : 9489115587
Option 11D : 94891122345
Option 2 1D : 94891122347
Option 31D : 94891122346
Option 4 1D : 94891122348
Status : Answered
Chosen Option : 2
Q.43 A b codigine 3000 the edted of ook 40 i he e koo o TR0 T L0 and 210, Mk fotes of BEOL 2A0and
$ 10 e i themtionf £5 8 10, thee the pember ol e mriey of £30 t the bag will be
Ans 1. 16
2. 32
V3 24
4. 8
Question ID : 9489115459
Option 11D : 94891121835
Option 21D : 94891121836
Option 31D : 94891121834
Option 4 ID : 94891121833
Status : Answered
Chosen Option : 3




Q.44
Ans 1.
2.
v &)
4.

Question ID : 9489115342
Option 11D : 94891121366
Option 2 1D : 94891121365
Option 31D : 94891121368
Option 4 1D : 94891121367
Status : Not Answered
Chosen Option : --
Q45 Select the letter-cluster that can replace the questinn mark { 7} in the following series.
CRO.DOR, EPS. FOT, 2
Ans 1.
( 2.
3.
4.
Question ID : 9489115585
Option 1 ID : 94891122339
Option 2 1D : 94891122338
Option 31D : 94891122337
Option 4 1D : 94891122340
Status : Answered
Chosen Option: 2
Q.46
Ans 1.
2.
( 3.
4.
Question ID : 9489115312
Option 11D : 94891121248
Option 2 ID : 94891121245
Option 31D : 94891121246
Option 4 ID : 94891121247
Status : Answered
Chosen Option : 3
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Q.47
Ans 1.
v &)
3.
4,

Question ID : 9489115316
Option 11D : 94891121261
Option 21D : 94891121264
Option 31D : 94891121263
Option 4 1D : 94891121262
Status : Answered
Chosen Option : 2

Q.48 T iimeren! saspaowss a8 euboidal pooom are 12 os » B e v o m, Wi the beight baing 4 o, Find the et cosr ol
whiresastasg all for weils adsng wit ceiliing of due msm, i e oo of whins washieg i 35 per s ol

Ans 1.

2.
3.

v 2

Question ID : 9489115464
Option 11D : 94891121854
Option 2 1D : 94891121856
Option 31D : 94891121853
Option 4 1D : 94891121855
Status : Answered
Chosen Option : 4

Q49 Wwhen 0,434343..... is converted inte a fraction, then the result will be:

Ans

Question ID : 9489115447
Option 11D : 94891121787
Option 21D : 94891121788
Option 31D : 94891121785
Option 41D : 94891121786
Status : Answered
Chosen Option : 4
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Q.50
Ans 1.
v &)
3.
4.
Question ID : 9489115328
Option 11D : 94891121310
Option 2 1D : 94891121311
Option 31D : 94891121309
Option 4 1D : 94891121312
Status : Answered
Chosen Option : 2
Q.51
Ans 1.
( 2.
3.
4.
Question ID : 9489115315
Option 11D : 94891121258
Option 2 1D : 94891121260
Option 3 1D : 94891121257
Option 4 1D : 94891121259
Status : Answered
Chosen Option : 2
Q.52 yhye pges aif rarn persions diTer Ty 5 pean, (05 verrs i (e s o Mg ohler person wis rwice hat of fhe
woneger one, then their prevest npes (in vears) one
Ans 1.
2.
3.
« 4.
Question ID : 9489115466
Option 11D : 94891121861
Option 21D : 94891121863
Option 31D : 94891121862
Option 41D : 94891121864
Status : Answered
Chosen Option : 4
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Q.53 Sefect e oo thar ks refted o tie tird term i the same way as e second femm & relased 1o dhe

firet termn

Doge : Long= 1 Freli: 7

Ans 1.
2.

3.

W

Question ID : 9489115574
Option 11D : 94891122294
Option 2 1D : 94891122295
Option 31D : 94891122293
Option 4 1D : 94891122296
Status : Answered
Chosen Option : 4
Q.54 ‘What i the perocaiags of the pand o sl cogial Reld by the coatiral pevermient oo by dey sl pornEnsos of gk
ey the senimal grovemumenis e parily by tae or mee steie prvammmeine in Préic Secter Underinlongs®
Al
ns 1. 50% or less
2.
3.
v 2
Question ID : 9489115339
Option 11D : 94891121353
Option 2 ID : 94891121355
Option 31D : 94891121356
Option 4 1D : 94891121354
Status : Not Answered
Chosen Option : --
Q.55 What is the Electric Power Generation Capability of Chandrayaan -2's Rover-Pragvan?
Ans 1.
2.
W 3
4.
Question ID : 9489115332
Option 11D : 94891121325
Option 21D : 94891121328
Option 31D : 94891121327
Option 4 1D : 94891121326
Status : Not Answered

Chosen Option :
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Q.56 T traie s frown seaiksic A dod B and mave] cowands eich st af e cpeeds of 60 Kea'h it 70 o B respeivedy.
A the fime of therr mewning e st bmin has Servelled 29 kan mers than the e The disvscs beeween & ol Bin
Ans 1.
« 2.
3.
4.
Question ID : 9489115462
Option 11D : 94891121848
Option 2 1D : 94891121845
Option 31D : 94891121847
Option 41D : 94891121846
Status : Answered
Chosen Option : 2
Q.57 . o
Which of the following is a drought-tolerant crop?
A
ns - Tute
2.Rice
W 3 Millet
4. Sugarcane
Question ID : 9489115322
Option 1 ID : 94891121287
Option 2 ID : 94891121285
Option 31D : 94891121288
Option 4 ID : 94891121286
Status : Answered
Chosen Option: 1
Q.58  Aamrveyof 40 chil e shorwad tiear 25% chil il 1iked pisging Sstali, How sewy chilfoin S e like povag
toostall?
Ans 1.
v &)
3. 35
426
Question ID : 9489115453
Option 11D : 94891121810
Option 2 ID : 94891121811
Option 31D : 94891121809
Option 4 ID : 94891121812
Status : Answered
Chosen Option : 2
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Q.59

Ans

Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115465
94891121858
94891121860
94891121859
94891121857
Answered

4

Q.60 A pugnber iz grenter than 3 bt Jess than 8, A Do, It b5 grestes than 6 ba [ess than L0, The onmbey 44

Ans

16
V27
3. 8
4.5

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115599
94891122395
94891122394
94891122393
94891122396
Answered

2

Q.61

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489115324

94891121294
94891121293
94891121296
94891121295
Not Answered




Q.62
Ans 1.
W 2
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

9489115327

94891121307
94891121306
94891121308
94891121305

: Answered

Chosen Option : 2

Q.63 L wiaichs vear did Tidin Irnnel an bmaging satellice called the Techinedopy Expertenay Salellie (TESH

Ans (1.

2.
3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115331

94891121322
94891121323
94891121324
94891121321
Not Answered

Q.64 T cpessis of ibwee cars we in s racha of 52 6 0 10 The teis ek 89 snch of ien o imvel e mme disancs s 10he

o al
Ans 1.

2.
3.

v 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489115461
94891121844
94891121841
94891121842
94891121843
Answered

4
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Ans 1.

2.

3.

v &

Q.65 For wiech Indinn spice did the Inding govemmest challenge the U5 pasenting nod force them to revolor &2

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :

Chosen Option :

1 9489115311

194891121244
194891121241
194891121242
194891121243

Not Answered

Q.66
Ans 1.
2.
W 3.
4.

Question ID : 9489115314
Option 11D : 94891121254
Option 2 ID : 94891121255
Option 31D : 94891121256
Option 4 1D : 94891121253
Status : Answered
Chosen Option: 3

[2A. 85, 7,92
W 1 28
2. 24
3. 17

4. 26

Ans

Q.67 Saleea the puunber from soong the given opoons that can replece e sprestion ek {71 m ghe folloeing s nes

Question ID : 9489115583
Option 1 ID : 94891122329
Option 2 ID : 94891122331
Option 31D : 94891122332
Option 4 1D : 94891122330
Status : Answered

Chosen Option : 1
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Q.68 “Whizh of e Prired Malice's umganizeion b ke miiomd Tnnime of Edocrtioe] Pluinisg arPacs as i pan®

Ans 1.

2.

3.

v

Question ID : 9489115335
Option 11D : 94891121340
Option 2 1D : 94891121337
Option 31D : 94891121339
Option 41D : 94891121338
Status : Answered
Chosen Option : 4
Q.69
Ans 1.
2.
3.
“ 4.
Question ID : 9489115321
Option 11D : 94891121284
Option 2 1D : 94891121283
Option 31D : 94891121281
Option 4 1D : 94891121282
Status : Answered
Chosen Option : 4
Q.70 Iowineh yenr did die Usiied Mrbioes Environaesot Progomnes | TMER) miceed o looghed a0 agrestieg? b Ssexe CFC
preshectio at | WS lreds?
Ans 1.
W2
3.
4.
Question ID : 9489115333
Option 11D : 94891121330
Option 21D : 94891121332
Option 31D : 94891121329
Option 4 1D : 94891121331
Status : Answered
Chosen Option : 4
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Q71 wWhich of the following is NOT a property of ROM {Read Only Memory)7
Ans 1.

WWW. g 0‘..’t,i obsalert.in

2.

v &)

Question ID : 9489115338
Option 11D : 94891121349
Option 2 1D : 94891121352
Option 31D : 94891121351
Option 4 1D : 94891121350
Status : Answered
Chosen Option : 3

Q.72 Comsider the grven siatemant and decide wiuch of the ghven nasumptions isane implicit in e sement
SlatEment:
IE v ie easy 5o beeon o Goctod, 1000t i e b & doch,
AdsimipEnms
L 1 acpare fo be o professiomal

1L 1 dezive b achieve serzethitng which i= bard eamed.
Ans 1.

Question ID : 9489115582
Option 11D : 94891122325
Option 2 ID : 94891122327
Option 3 1D : 94891122328
Option 4 1D : 94891122326
Status : Answered
Chosen Option : 2
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Q.73 Find the kenst pninber by which 6250 should b aoulnplisd, so tat b beeomes o pefe cobe

Ans 1. 15
2.
V3 20
4. 25
Question ID : 9489115450
Option 1 ID : 94891121797
Option 2 1D : 94891121800
Option 31D : 94891121798
Option 4 ID : 94891121799
Status : Answered
Chosen Option : 3
Q.74
Ans 1.
2.
3.
“ 4.
Question ID : 9489115305
Option 11D : 94891121218
Option 21D : 94891121219
Option 31D : 94891121220
Option 41D : 94891121217
Status : Not Answered
Chosen Option : --
Q.75 Indnw ckcemiive prisk e, die poodin of the Lt duee 15 7420 and Sl of the Tusi e is 00 The liggey: of
fhene prive membes o
Ans 1. 37
2. 29
W 23
4. 13
Question ID : 9489115449
Option 11D : 94891121794
Option 21D : 94891121793
Option 31D : 94891121796
Option 4 1D : 94891121795
Status : Answered
Chosen Option : 3
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Q.76
Ans 1.
2.
3.
v 2
Question ID : 9489115323
Option 11D : 94891121290
Option 2 ID : 94891121292
Option 3 1D : 94891121291
Option 4 1D : 94891121289
Status : Not Answered
Chosen Option : --
Q.77
Ans 1.
2.
3.
v
Question ID : 9489115309
Option 11D : 94891121235
Option 2 ID : 94891121233
Option 3 1D : 94891121234
Option 4 1D : 94891121236
Status : Answered
Chosen Option : 4
Q78 YWho won the Women's Singles Australian Open 2020 Tennis title?
Ans 1.
« 2.
3.
4.
Question ID : 9489115307
Option 1 1D : 94891121227
Option 2 ID : 94891121225
Option 3 1D : 94891121228
Option 4 ID : 94891121226
Status : Answered

1
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Q.79
Ans 1.
2.
« 3.
4. Qutub-ud-Din Aibak
Question ID : 9489115310
Option 11D : 94891121240
Option 2 ID : 94891121239
Option 3 1D : 94891121238
Option 4 ID : 94891121237
Status : Not Answered
Chosen Option : --
Q.80
Ans 1.
2.
« 3.
4.
Question ID : 9489115325
Option 11D : 94891121300
Option 2 ID : 94891121297
Option 3 1D : 94891121298
Option 4 ID : 94891121299
Status : Not Answered
Chosen Option : --
Q.81 4 pproximately. how many bones are there in a child's body af the time of birth?
Ans 1.
( 2.
3.
4.
Question ID : 9489115313
Option 11D : 94891121251
Option 2 ID : 94891121250
Option 31D : 94891121252
Option 4 ID : 94891121249
Status : Answered
Chosen Option : 2




wwWw.govtjobsalert.in
Q.82
Ans 1.
2.
v &)
4.

Question ID : 9489115336
Option 11D : 94891121342
Option 2 ID : 94891121343
Option 3 ID : 94891121341
Option 4 ID : 94891121344
Status : Answered
Chosen Option : 3
Q.83 The bemgrhs of mvw sides of o whangle ate 7 cm ded §-2m eeaperively and the aisnane of the aagl: kciuded beween
e v sicien i SIF, Tha lenpeh lin emi of the tbird gide of the tnangles =
Ans 1.
2.
3. 9
( 4.
Question ID : 9489115473
Option 11D : 94891121890
Option 2 ID : 94891121892
Option 31D : 94891121889
Option 4 ID : 94891121891
Status : Answered
Chosen Option : 4
Q.84 huar ix the insrsanian mrmibes of tiles Wiieae lenh nod Beudth ane DO Cin s B e pespecinvely Wil be paquiced fo fi
i geetmipnbar rogict vl fength asd hresdib gie pespectivaly 193 on ol |00 o™
Ans 1.
2.
3.
( 4.
Question ID : 9489115470
Option 11D : 94891121880
Option 2 ID : 94891121878
Option 31D : 94891121877
Option 4 ID : 94891121879
Status : Answered
Chosen Option : 4
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Q.85
Ans 1.
v &)
3.
4,

Question ID : 9489115445
Option 11D : 94891121779
Option 2 1D : 94891121780
Option 31D : 94891121777
Option 4 1D : 94891121778
Status : Answered
Chosen Option : 2

Q.86 The bwlow pie dimpram shomes: poprdvtion destribabon of different professionad mon ciby.

Stirhy the ple disgram amd answer the questiou thes follows

Iibe i popriation of & city is 230000, e W lar will be e apgeosinane simbe o sigiees in e i
Ans 1.

Question ID : 9489115589
Option 11D : 94891122354
Option 2 1D : 94891122355
Option 31D : 94891122353
Option 4 1D : 94891122356
Status : Answered
Chosen Option : 4




www.govtjobsalert.in
Q.87 The below pie dingram shows populntion distribution of diffsrent professionals in a city.

Shudy the pie dingram and answer the question that follows.

The sirength of the Cledss (Clerend Staff) 5 how magy times thnt of the teachers!

Ans ( 1.

2.

3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489115590
94891122357
94891122358
94891122360
94891122359
Answered

2
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Q.88 Tha below graph shows the resulrs of bovs and girls in differant standards.,

Ans

Study the graph and answer the quastion that follows.

i 1]
=
Bl
il
|
L=1]
in
=1
m
1M

1]

Memialt im%

-]
1] 1] E
el - ™
£l -1 3 o
b | L1} " ¥n e o
Standarn

mEgE REIE

In which standard i5 the ratio of boys" performance to zirls” performance 3 © 27

W

2.
3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489115591
94891122363
94891122362
94891122361
94891122364
Answered

1




www.govtjobsalert.in

v 7
Q.89 Th= befoay giaplh abaviki Bhe resiilis of boys akd girks i difeai dosdanls

Brvadyy thiz praply i e the quesataod Mar fllews

it .
[~ [ s

" . - =

T s o -]
= B
£ I =‘ ‘
. ]

. Ve " »
o

el T

Scroms all the prven simadards. wini is the fifferece a1 crem il avemge parcemmge 10 masks bevween hoys and gurd=?

Ans “1.

Question ID : 9489115592
Option 11D : 94891122366
Option 2 1D : 94891122368
Option 3 1D : 94891122365
Option 4 ID : 94891122367
Status : Answered
Chosen Option : 1

Q90 <Painting’ is related 1o “Brush’ in the same way as “Letter*is related to © b
Ans ( 1.

2.

3.

Question ID : 9489115575
Option 11D : 94891122299
Option 2 1D : 94891122298
Option 31D : 94891122300
Option 4 1D : 94891122297
Status : Answered
Chosen Option: 1
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Q.91  SHaleci the combination of letters that when secuerisily placed in the binnks wll creste s repetitove patten

MUEM  POETnessyy . O s
Ans 1.

2.

3.

v &

Question ID : 9489115586
Option 11D : 94891122342
Option 2 ID : 94891122341
Option 3 1D : 94891122343
Option 4 ID : 94891122344
Status : Answered
Chosen Option : 4

Q.92 s cutkiionconli IS, THEIVERSTTY Li widtin s EVINITYTISR. Hew will TEATPRATLURE b wirikiias st in
thiar L =

Ans JT

2.

3.

Question ID : 9489115576
Option 11D : 94891122302
Option 2 ID : 94891122304
Option 3 1D : 94891122301
Option 4 1D : 94891122303
Status : Answered
Chosen Option : 1

Q.93  Bieeesd fup e plizni ives bebow, sedeet dee indser i ol e @ivai oo il cis feglice the qlea sk
171 bl given Ngure

. I 1. l . T (=P
Ans 1. 8
2. 6
V'3 10
4. 12

Question ID : 9489115602
Option 11D : 94891122405
Option 2 ID : 94891122406
Option 3 1D : 94891122408
Option 4 1D : 94891122407
Status : Answered
Chosen Option: 3
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Q.94 Ifthe kmars of the word AC CELERLATIONS. 1 renped 18 e alpbobericsl tofee, thes nbhiod of die Maboewing |smars
will bw m the ceaie of il mranpement?

WWW. g ovtiobsalert.in

Ans 1. N
2.7k
VR |
4. E
Question ID : 9489115601
Option 11D : 94891122404
Option 2 ID : 94891122403
Option 3 ID : 94891122401
Option 4 ID : 94891122402
Status : Answered
Chosen Option: 3
Q.95
Ans 1. §
2.2
NERNT
4. 20

Question ID : 9489115597
Option 11D : 94891122385
Option 2 ID : 94891122386
Option 3 1D : 94891122387
Option 4 1D : 94891122388
Status : Answered
Chosen Option : 4
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Q.96 =ajert the Venn diagram that best reprezents e relamnnship bermean the followlng classes.

Faoi, Yepstabls, Do
©o @ ®
"-' i i e
Ans 1. A
2. B
v3:D
4. C
Question ID : 9489115596
Option 11D : 94891122384
Option 2 ID : 94891122383
Option 3 ID : 94891122381
Option 4 ID : 94891122382
Status : Answered
Chosen Option: 3
Q.97 Rl da givan cansi i and domcdsios darefully, Asimag thad e information gEven in the slannents 15 Gk,
sl 3 i1 appenis s be ol voelioce Wil codanen |y Knowie Tis decide whicl ol dis g st b ol lcally
Ml &) o e SalEmnt
Slalemmiils=
Somm phacails are brigld
Al bright pecple e meccessiul
Cnncinsinms:
i S aiderng e aeccesshil
L Soooe sueiessBl people aos souden
L. Adl s ccesafl peopls e SR
Ans 1.
v
3.
4.
Question ID : 9489115579
Option 11D : 94891122315
Option 2 ID : 94891122314
Option 31D : 94891122313
Option 4 ID : 94891122316
Status : Answered
Chosen Option: 2
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Q.98  Fiial Pt vy elaleasaniln il Somcketiogs daraflilly, Aswammag thal the infoomation, Eve in the sisments [
el i1 appenis o be ol vielioce Wi codanen ly Knowie Tl decide which ol dis g chacabinm kgl

fallore) ) frosn the SaEments
Slalemibs:
Mo dog o cet
Al ni= mre st
Cnne s nmss

I Some nifs i doge

IL S Jogs &e ol o,

L Mot ks a dog

Ans 1.

2.

v &)

Question ID : 9489115580

Option 11D : 94891122318

Option 2 ID : 94891122319

Option 31D : 94891122320

Option 4 ID : 94891122317

Status : Answered
Chosen Option: 3
Q99 Three of the following four words are alike in & certain way and one is different.
Pick the odd ward our
Capsicom, Brinjal. Potsto, Ladies' fingers
Ans 1.
2.
3.
( 4.
Question ID : 9489115594

Option 1 ID : 94891122376

Option 2 ID : 94891122373

Option 3 ID : 94891122375

Option 4 ID : 94891122374

Status : Answered
Chosen Option : 4
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Q.100

the it

Sialcmenl

Comelnyioms

L o erean efficiem npist
M W con i o o sy ol et i
Ans 1.

V2

3.

1E s eoe an 2 Eficient typist, then we definiiely bmoe a job for you.

o poCtroTerT Tt

Read fie given statement imd cosclesions cwefulhy md declde wiich ot the ronemons logically tollowis) from

Question ID
Option 1 ID

: 9489115581
194891122323
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891122322
94891122321
94891122324
Answered

2
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